Precalculus Spiral Review

1f(x)—

2. Identify the intervals where the function is increasing, decreasing,

and/or constant. 8t /
4 4
mch describes the end behavior of the graph of f{x) = 2¢° — Bx + 17 B _:1 M e
F lmi flx) = eo, hm flx) = e H linl flx) = —eo, rlimw flx) = oo L,
3. 6 lm fl5) =, lim flx) = 3 lim flx) = oo, lim flz) = ~o0 [
) ‘84
Divide (x* + 5 + 5x — 2) by (x + 2) using synthetic division.
A 2?4 Tx + 19 429 C x48x—1
x4+ 2
q B A4 D x* 2
5. . FINANCE For a period of x days, an account balance can be
modeled by f{x) = 27 — x* — 8x. When was the balance $60?
A Dayh B Day8 C Day9 - D Day 10
. What are the vertical asymptotes of fix) = f ;"
6. Fzx=0 Gx=1 H x— 42 J x =143
. MEDICINE The concentration of a medicine is modeled by f(x) =—3?2x+—1.
/. What is the horizontal asymptote of the graph of the function?
Ay:—%, B y=0 Cyz% D y=2
8' h Fin:i the ﬁﬂlynnmial function of least deg'ree.with res:l coefficients
in standard form that has the zeros —3, 0, and 3.
F flx) =2+ +3x — 9 H fx) = x* - 9x
G flx) =2+ 9x ' J flx) =x*+22—3x—9
. TEMPERATURE The low temperature for a city every other da}r
9 . 1s- shawn Which function best models the data?
246810 12 14 13 18 | 20
515 |4 |2 2|0 |5 |14
A flx) = 0.20% — 0.4a? + 2.2¢ + 2
B f(x) = 2x° — 40x* + 217x + 199
C flx) = 0.02x" — 0.4x% + 2.17x + 1.99
D f(x) = 0.02¢" — dx? 4 2.17x — 1.99
10.

. Accurdmg to Descartes’ Rule of Signs, how many poqltwe real zeros
. could flx) = x* + 5x* — 2x* — 6x + 13 have?

F 0 G lor3 H 2 J?..or?f



